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Operation 2 v o
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X 1= Pile Diameter

X2= Pile Length

L/6 ‘ X10= 0", X17= SPT X3=( CLAY / SAND )

L/6 ¢ X11= 0" o X18=SPT X4=( CLAY / SAND )

y L

L/6 . = éﬂ3=SPT X5=( CLAY / SAND )

L/6 | ‘ o X20=SPT X6=( CLAY / SAND )

L/6 =a T X7=( CLAY / SAND )

L/6 Qo PT X8=( CLAY / SAND )

T X9=( CLAY / SAND )
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Best Llnear Fit: A =(0.843) T + (39.3) Best Linear Fit: A = (0 807) T+ (108)
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Best Linear Fit: A =(0.93) T + (17.1) Best Linear Fit: A = (O 869) T+ (45)
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ANT9N 4.10 HANIINARDUULUANABIA LA dNmAEN

Model Network Architecture Epochs | Training | Testing | Training | Testing
(R (R (RMSE)(t) | (RMSE)(t)
1 10 hidden nodes 1000 | 0.904 | 0697 | 59.33 | 125.48
2 20 hidden nodes 1000 | 0.903 | 0.737 | 59.60 | 114.12
3 30 hidden nodes 1000 | 0947 | 0752 | 4471 | 114.32
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10 10-10 hidgéh ngfled’ £ 2000 63| 0.762 | 37.61 | 111.66
11 20-20 hiddgdfnodesf 72800 X 0.880 | 3867 | 81.03
12 30-30 hidden Wiz o 0.819 | 3255 | 97.85
13 10 hidden nod®s /7| ¢ 31 | 0821 | 5050 | 96.64
14 20 hidden nodes < i . - 0958 | 0742 | 39.80 | 12651
15 30 hi , k 83.41)0.729 | 37.30 | 131.29
16 10-10 hidd 0.870 | 3569 | 84.37
17 20-20 hidden nodes 3000 | 0.975| 0.801 | 31.08 | 105.44
18 ' 29.01 | 127.66
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Model Network Architecture (04 Training | Testing | Training | Testing
(R (R%) (RMSE)(t) | (RMSE)(t)

1 Back-Propagation 0.10 0.916 0.693 55.64 121.73

2 Back-Propagation 0.25 0.931 0.734 50.79 114.66
30 Back-Propagation 0.50 0.943 0.825 46.26 95.49
4 Back-Propagation I5 0.973 0.840 31.79 104.18

5 Back-Propagati 0.957 | 0.893 | 40.32 | 80.06
6 Back-Pro 960 0.880 38.67 81.03

7 Back-P - 6 0.817 36.11 104.77
8 Back-Prop 0.729 40.34 | 136.16
9 Back-Plopadaubnl [« 0.687 | 48.48 | 177.68
10 Back-Rrop N 0.443 35.76 201.90
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Best Llnear Fit: A= (0.902) T+ (71.8) Best Linear Fit: A =(1.29) T + (-71.6)
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Best Linear Fit: A = (0 928) T+ (53 4) Best Linear Fit: A =(1.2) T + (-64.8)
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Best Lmear Fit: A= (0 919)T0 (60.4) Best Linear Fit: A = (1.27)T+ (44.5)
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Best Linear Fit: A = (1.37) T + (-31.4)
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Best Linear Fit: A = (0.954) T + (33.8) Best Linear Fit: A = (1.28) T + (4.74)
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Best Linear Fit: A = (0.946) T+ (39.9) Best Linear Fit: A =(1.23) T + (8.9)
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Best Linear Fit: A = (1 23) T* (89 7)
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Best Linear Fit: A = (0.956) T + (32 8) Best Linear Fit: A =(1.3) T + (-50.8)
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Model Network Architecture Epochs | Training | Testing | Training | Testing
(R%) (R?) . | (RMSEXY) | (RMSE)(t)

1 10 hidden nodes 1000 0.952 0.901 206.21 | 389.28
2 20 hidden nodes 1000 0.967 0.904 172.86 | 395.43
30 30 hidden nodes 1000 | 0.967 | 0.907 | 174.30 | 325.48
4 10-10 hidden nodes 1 0.948 0.903 214.00 | 339.70
5 20-20 hidden node: 0.966 | 0920 | 174.88 | 350.21
6 30-30 hidden ri 10 080 | 0.871 | 135.68 | 528.60
7 10 hiddennote® 77| |2 S 0.900 | 181.63 | 375.37
8 20 hidden"iogs 0916 | 151.00 | 317.64
9 30 hiddedogés 4 £ £, o ) [0 0.859 | 142.49 | 534.06
10 10-10 higef ngfles’ £ {2000 | 0911 | 181.89 | 344.13
11 20-20 hiddegfhodest  S72000 | 0917 | 130.19 | 385.07
12 30-30 hidden dod J‘%Hj * ; : 0893 | 7895 | 395.91
13 10 hidden nodés Jiiv | - 79 | 0888 | 138.19 | 397.85
14 20 hidden nodes _;_.;"",TE_Ti 0.989 0.902 | 102.27 | 362.64
15 30 hi 10.887 | 121.74 | 441.81
16 10-10 hidd 0.908 | 154.66 | 387.71
17 20-20 hiddén nodes 3000 0.917 | 129.22 | 380.28
18 303? qm ﬂ 0?04 106.26 | 364.28
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Model | Network Architecture Training | Testing | Training | Testing

(R} (R%) (RMSE)(t) | (RMSE)(t)
1 Back-Propagation (TanSig) 0.975 0.916 151 .OQ 317.64
2 RPROP 1 0.859 1.07 364.75
3 Powell-Beale Conjugate 14 | 0.862 1.87 549.78
4 Fletcher-Powell Conjuga iy Wi msor | 155 | 51422
5 Polak-Ribiere ConjugiEm lﬁ—m’ 5 | 121 | 32434
6 Scaled Conjugate= 42591

Anm:ﬂi | oo

Best Linear Fit: A = (0.94

Best Linear Fit: A = (1.19) T + (-23.2)
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Best Linear Fit: A = (1.11) T + (-33.3)
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Best Linear Fit: A = (1) T + (0.000588) Best Linear Fit: A = (1.34) T + (-55.1)
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Best Linear Fit: A = (0.867) T + (97.9) Best Linear Fit: A = (1.13) T + (49.6)
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Best Linear Fit: A = (0.948) T + (38.6) Best Linear Fit: A = (0.968) T + (144)
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Model Network Architecture o Training | Testing | Training | Testing
(R (R?) (RMSE)(t) | (RMSE)(t)

1 Back-Propagation 0.10 0.940 0.904 220.00 | 324.97

2 Back-Propagation 0.25 0.954 0.908 201.91 | 334.95

3 Back-Propagation 0.50 0.965 0.896 176.29 | 428.20

4 Back-Propagation 0975 | 0916 | 150.41 | 355.34
5 Back-Propagati’ 0.972 | 0.933 | 158.99 | 361.04

6 Back-Propag 0.916 | 151.00 | 317.64
v Back-Pri i 0.823 194.56 | 469.09

8 Back-Propa 0.666 195.11 | 694.39
9 Back-Pr8paghliof £ £ {4 4 0739 | 145.14 | 494.49
10 Back-Pidpagétiol -\ 0.646 | 141.43 | 524.27
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